PRESIDENT CLINTON; THE ANCIENT
ORDER AND THE IMPEACHMENT

®The ANCIENT ORDERE controls all others who are the "Beasts of Burden™ and
they code it BOB, 202 or 2/2, Peb, 2nd, the 33rd day of the year. 22 33.

#¥William{7%) + Jefferson{98) + R
Clinton{87) = 264, 264 is #38 on the Consider the delicate matter of Gennifer Flowers: Six vears
"33" lizt. Gennlfer{78) + Flowers ago, Millary sat next to her candidate-hushand on 50 Minpees,
(98) = 176, #8 on the "313" list. nodding and supporting and comforting, as he said that the

@ Ths Laser-Ray devices work, in
part, due to the "electrical oscil- _
labions" of £he brain. The alpha EFERPATLS: SYORED IERDRE, S ERRUN 5 P
waves of the brain begin at "8..

allegation about a 12-year affair with Flowers was “false” Last
week, he reportedly admitted to that relationship under oath.

chertz". That is why President Clinton and Gennifer I“EE“ s e i I
Flowers esach appear 8 down in a column of the 22 33 liat. p 1-33

# The ANCIENT ORDER's doctors further coded the "elec- 2=-44 2-66
trical opscillaticons" in each of their names by the "E&O" 1 3-99
gode. Clinton's middle name is "Jefferson"™ with only the 4-B8 4-132
"EE0" as wvowels. The name "Flowers" alsc has only "EEO" as |5-110 5-145
voweals., Then look at what those 2 names add to. The name 6-132 6-198
Jeffaerson = 98 and Flowers = 98. Bach mame which has the 7-154 7-231
TERO" electrical oscillations code adds to exactly 98. B-176 A-264

8The Laser-Ray devices work on people the same way the Jo9.198 g_207
rays of the Sun effect plants: photosynthesis. That is why |10-220 | 10-330
the ANCIENT ORDER chose a woman named Flowers. —I

@The ANCIENT ORDER have their doctor code

in President Clinton's name-total by a unic ahiwlrhru j:gmijaﬂle;;a’tmrm:ﬁ

1 e - g = b 25 s I TR iric i Cl 1
of I:....e: Tl—_“:'l 1”-"11:_ of Lime 13 1 year or 363 the brain af a frequency of § to 13 hertz
days. William Jefferson Clinton = 264. Sub- when 2 person 3 awake and relaxed. |

tract: 365 - 264 = 101, 101 is the doctor
code, in President Clinton's name, from birth,

#President Clinton was impulsed to expose himself to Paula
Jones and she was impulsed to not complain publiely until the
AMCIENT ORDER was ready, Gennifer Flowers was used to establish
candidate Clinton was sexually indizcreet. Once he Became Presi-
dent Clinton, the ANCIENT OQRDER's doctorszs brought Paula Jones

tors made Clinton begin an affair with Monica Lewinsky and made him place
hizs DNA on her dress. Then, the dress and DHA secured, Lewinsky was connec-
ted to the Paula Jones federal court proceedings. All of these women were
carefully chosen and operated by the ANCIENT ORDER's doctors using bhese
Laser-Ray devices. Here's proof:
® Genniler{78) + Flowers{28) = 176. Paulal(51) + Jones{63]1=114. 176

Monlca(53) + Lewinsky(118) = 173. HWotice that the end numbers 114
ares Ei_j and_} and the total is 463, Then look at the reat of +1j§
the numbera: 17, 11 and 17 oxr 7, 11 and ?; b 463

®The ANCIENT ORDER use these same devices on millions of
peaple all over the warld avery gingle day.
® The excerpt below is from the ANCIENT ORDER's book, "1584"™,

We know that no one ever seizes power with
the intention of relinquishing it. Power is not & means; it
is an end. One does pot establish a dictatorship in order
i safeguard a revolotion; one makes the revolotlon In
order to establish the dictatorship, The object of persecu-
tion B persecution. The object of torwre I8 tormare. The
object of power B power, Mow do you begin to undertand |
e 217
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